Multiple Regression Analysis: Further Issues
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SCIR2: R

*PriE AR

egen z_x = std( x )

* LU R AR B B AR

reg zy zx1 z x2 z x3, noc
*EA T

reg y x1 x2 x3, beta
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dis 100*( exp(_b[x]) - 1)
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£084: FTIRIRAYIREY
y = az’+ bz + ¢
dy/dxr = 2ax + b

* A4 R AZ I

*foreach (&P

reg y c.x#tc.x [/ RIS xHF )7 T

reg y c.x#(c.p2-p9) //RAERxEp2-po] RFIAE H I

reg y c.x##(c.p2-p9) //AEMxEp2-pf RINZZHIN, Hix5p2-poA &

* —IXKHE
*gfit (i)

Rl RPN S B2
sum X
gen x_centered = x - r(mean)
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sysuse auto, clear

reg price mpg

est store ml

reg price c.mpgiitc.wei //3EA[A])H+32 Fe
est store m2

esttab ml m2

center mpg wei, prefix(C_ )

reg price mpg wei c.C_mpg#c.C wei // XA FELiF 0

est store m3

reg price c.C_mpgi#itc.C wei //XfFAE. T4 E A FIAL L0
est store m4

esttab m1 m2 m3 m4, mtitle(ols nocenter center_inter center_all)

*-Notes:

kO AR TS — IR IR B R, ANResiRILZR 4, AR LN A
ko HOGEAS I R 5L, H M 5G],
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dy/dX = by
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AEE, bINENX: HZ=00, XHNZEF IS HRyHIZE]

FRNINEAE?

AZEI? 53¢AE3?

help margin

*HZH

sum x1

scalar x1 _mean = r(mean)

gen x1cx2 = ( x1 - x1 _mean ) * x2
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386 MESMENZEIERE
R? = [corr(y,§)])* (IEBR)
R2 EEHEFIS?

R29f%E: TEXTEEMSSHT (Dominance Analysis) domin
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SEIS7: FRNFISRES

reg y $x, r
predict yhat //inAMixb?
gen resid = y - yhat

predict uhat, residual
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bcuse gpa2, clear
regress colgpa sat hsperc hsize hsizesq

*F: sat = 1200. hsperc = 30. hsize = SEfHITRIMIE:

* R IRE TS FARMNE, FEIn— 258008 .

set obs = N+1'

replace sat = 1200 in "= _N' // "= N' FTorma—AT
replace hsperc = 30 in "= N'

replace hsize = 5 in = N’

replace hsizesq = 25 in "= N' // hsize=5K*F7J7 25

+Z

* A BTN
predict yhat if n == N, xb
list yhat if n == N

*-Note: FIFIEIABAITIMIES, MRS & A(E i AN BT AEAS TG B R
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*6-4d Predicting y When the Dependent Variable Is log(y):
reg lny x1 x2 x3

predict lnyh

predict uh, res

gen eu = exp(uh)

egen sumeu = sum(eu)

dis sumeu/_N //smearing estimatorfmixi& EfhiHH

gen m=exp(lnyh)

dis aéh*m //yFiuidl{E

Ul =il EIE
reg y m, noc //FEEI N0 checkfiHE
corr y yf

*-Note: [NAZENInyHfHeony a1 R R R &=y ) FUNME -5 y SR AR SR R B0 77
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*Baum _4.6.1 Computing interval predictions (self-reading)
use http://www.stata-press.com/data/imeus/hprice2a, clear
quietly regress lprice lnox if n<=100

predict double xb if e(sample)

predict double stdpred if e(sample), stdp

scalar tval = invttail(e(df_r), 0.025)

generate double uplim = xb + tval * stdpred

generate double lowlim = xb - tval * stdpred

summarize lnox if e(sample), meanonly

local lnoxbar = r(mean)

label var xb "Pred"

label var uplim "95% prediction interval”

label var lowlim "95% prediction interval™

twoway (scatter lprice lnox if e(sample), ///

sort ms(Oh) xline( lnoxbar')) ///

(connected xb lnox if e(sample), sort msize(small)) ///
(rline uplim lowlim 1lnox if e(sample), sort), ///
ytitle(Actual and predicted log price) legend(cols(3))
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Bootstrap

:‘i-g%‘

Stata: Bootstrap- B

Stata: FISCHIEIRITIE (permutation)F1E
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F(bootstrap)

14


https://www.lianxh.cn/details/43.html
https://www.lianxh.cn/details/1091.html
file:///C:/Users/zzyna/Documents/Obsidian%20Vault/xishanyu2.github.io

FEEESEHR:

1814/open5_regress.zip - lianxh/Stata AR EES

I E Bl APIEXZR LS RE R EEZTHIUERR - A=

Tz

BEXRREEFRDIRRZZMTA? - ;T
Stata#FHELLIE : FFPKFIA—%

xishanyu?2.github.io

- Gitee.com

15


https://gitee.com/lianxh/stataopen/blob/master/%E8%AF%BE%E4%BB%B6/open5_regress.zip
https://zhuanlan.zhihu.com/p/338241979
https://www.zhihu.com/question/32021302/answer/739464752
https://www.lianxh.cn/news/3ce33ba6750a7.html
file:///C:/Users/zzyna/Documents/Obsidian%20Vault/xishanyu2.github.io

